
因数分解しなさい
x3−(a2−a+1)x−a2+a

= x3−a2x+ax−x−a2+a

= −xa2−a2+ax+a+x3−x 最低次数の aで整理

= (−x−1)a2+(x+1)a+ x3−x

= −(x+1)a2+(x+1)a+ x(x2−1)

= −(x+1)a2+(x+1)a+x(x+1)(x−1)

= −(x+1)
(
a2−a−x(x−1)

)

gbb60166 プレ高数学科



因数分解しなさい
x3−(a2−a+1)x−a2+a

= x3−a2x+ax−x−a2+a

= −xa2−a2+ax+a+x3−x 最低次数の aで整理

= (−x−1)a2+(x+1)a+ x3−x

= −(x+1)a2+(x+1)a+ x(x2−1)

= −(x+1)a2+(x+1)a+x(x+1)(x−1)

= −(x+1)
(
a2−a−x(x−1)

)
gbb60166 プレ高数学科



因数分解しなさい

= −(x+1)
(
a2− a−x(x−1)

)
1

1

−x

x−1

−x

x−1

−1

aで、たすきがけ
1

= −(x+1)(a−x)(a+x−1) 答 −(a−x) = x−a

= (x+1)(x−a)(x+a−1) 答
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